Ex/Phil/PG/3.3/70/2017

MASTER oF ARTS ExaMINATION, 2017

(2nd Year, 3rd Semester)
PHILOSOPHY
(Philosophical Psychology)

Full Marks : 30 Time : Two Hours

Use aseparate Answer-Script for each Group.

The figures in the margin indicate full marks.
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1. How can we account for individua differences if the sdf is
regarded to be one and the same in everyone ? Discuss. If
the self is immanent in everyone, why cannot it be
perceived ? How can the self which is body-less enjoy
pleasure and plain ? Discuss with reference to the
Upanisads. 4+3+3=10
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2. How do the Buddhists account for the origin of
consciousness of an object ? Discuss in detail. 10
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Answer within 200 words.

THEF 200 *F TG TG |

3. Is consciousness only cognitive in nature ? Or are there other
functions of consciousness ? Discuss briefly following the
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4. How do the Abhidharmika Buddhists calculate the number
of supra-mundane variety of consciousness to be forty ?
Discuss briefly. 5
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5. Bring out the chief contentions of the Cartesion theory of
mind. Congtruct two arguments againg this theory from the
view point of the methodological behaviourists. 6+4=10
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6. Analyse the notion of direct access as a feature of
consciousness. Can this feature fadilitate communication about
one's own mental sates ? 8+2=10
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7. Can different types of mentd states have the same conditions

of satisfaction ? Discuss with reference to the notion of
intentionality of consciousness. 5
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8. Wha is quaia? Give an argument againgt the admission of
qudia 5
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